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QUESTION 1

Which Lenovo server features the flexible AnyBay design?
A. SD650

B. SR530

C. SE350

D. SR650

Correct Answer: D

Reference: https://lenovopress.com/Ip1050.pdf

QUESTION 2

A large retail customer needs an Ethernet switch for their small shops in remote areas. They want to connect PoE
devices such as WLAN access points, video cameras and telephones in addition to the store PCs. Which switch should
you recommend?

A. NE1032

B. NE1032T

C. CE0128PB

D. CE0128TB

Correct Answer: C

Reference: https://lenovopress.com/Ip0722-lenovo-ce0128p-gigabit-ethernet-switch-with-power-over-ethernet

QUESTION 3

Which ThinkAgile Certified Node supports heterogeneous nodes in a cluster?
A. SXM

B. MX

C. HX

D. VX

Correct Answer: C

Reference: https://www.lancom.si/media/filer_public/b9/f1/b9f138d2-020f-4de9-addd-
591bdecdOad3/lancom_-_5 novih_sistemskih_resitev_-_lenovo_-_ales_simoncic.pdf
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QUESTION 4

A customer database workload requires 125 drives. They have a SAN with DB610S switches. At the second site, for
synchronous mirroring they will use a DE6000H system. Which Lenovo storage system will meet this customer\\'s needs
at the local site?

A. DM7000H

B. DE2000H

C. DE4000F

D. DM5000F

Correct Answer: C

Reference: http://www.state.wv.us/admin/purchase/Bids/FY2020/B_1600_S0S2000000002_05.pdf

QUESTION 5

Your customer is redesigning their network layout to a leaf-spine architecture. For the top of this three, they want
switches that are able to provide at least 28x 10 Gbps optical ports. Which switch should you recommend?

A. NEO0152TO
B. NE1032

C. NE1032T
D. NEO152T

Correct Answer: B

QUESTION 6

A customer is planning a new environment for big data analytics. Each node uses an SR550 server with 12 internal
drives. There is a requirement for each server to have access to an additional 20 direct attached drives. Which Lenovo
Storage system meets their needs?

A. DE2000H

B. DM3000H

C.D1224

D. D1212

Correct Answer: D

Reference: https://lenovopress.com/Ip0512-lenovo-storage-d1212-d1224-drive-enclosures
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QUESTION 7

What are three reasons to move to a public cloud? (Choose three.)

A. Always the least expensive solution

B. Provides greatest control over customer data

C. Application marketplace allows faster deployment of software and services
D. Offers As-A-Service utility

E. Easier to control and predict cost of technology

F. No infrastructure to own or manage

Correct Answer: DEF

QUESTION 8

What is the Lenovo Data Center Group vision?

A. Be the most trusted data center partner

B. Be data center partner with highest number of business partners

C. Be data center partner with largest portfolio of products

D. Be the data center partner offering Software Defined Data Center building blocks

Correct Answer: C

QUESTION 9

Which three statements are true about the Bare Metal OS Provisioning capability of XClarity Administrator? (Choose
three.)

A. Supports deploying operating systems to 50 bare-metal servers concurrently

B. Supports a maximum of 5 operating system images to be stored in the repository
C. Supports a maximum of 10 operating system images to be stored in the repository
D. Supports deploying CentOS Linux

E. Supports deploying operating systems to 28 bare-metal servers concurrently

F. Supports deploying SUSE Linux Enterprise Server (SLES)

Correct Answer: CEF
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Reference: https://lenovopress.com/tips1200-lenovo-xclarity-administrator

QUESTION 10

You are working with a retailer that wants to do a store refresh for hundreds of store locations distributed around the
country. They want a server model in a tower format. Due to the small workload requirements, they want to use some of
the less expensive processor SKUs such as the Core i3. The amount of system memory required for each server is 64
GB of memory, with no plans for expansion. Their storage needs are at least 30 TB, and they prefer SAS drives over
SATA. One key requirement is for this system to have robust enterprise- class systems management capabilities with
remote KVM, and virtual media mounting of ISO images is a must.

What is the most cost-efficient and recommended server for this customer?

A. ST50 with XCC Advanced/Enterprise upgrade

B. ST550 with XCC Advanced upgrade

C. ST250 with XCC Advanced/Enterprise upgrade

D. SR550 with XCC Standard

Correct Answer: A
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